AE =50 nT
|Sym-H| 5 nT

Northern
Hemisphere

120
<= 100
5 g
- S
X 80 2
s
z
60
40
00:00
Aap - MLT
50 nT <AE < 150 nT Northern
-25nT < Sym-H <-5nT Hemisphere
120
7 100
3 g 8
% 80 e 8
]
z
60
40
T
00:00
Aap - MLT
150 nT < AE < 300 nT 12:00 Northern
Sym-H <-25nT Hemisphere
120
7= 100
5 8 8
>4 S 2
X 80 2 8
s
z
60
40
00:00
Aap - MLT
Northern
AE > 300 nT Hemisphere
120
7 100
o 8 8
* 80 * 'S
]
z
60
40

00:00
Aam=MIT

Hurst
o
b

Hurst

Hurst

Hurst

AE <50 nT
|Sym-H| = 5 nT

18:00

50 nT < AE < 150 nT

12:00 Northern

a7~ Hemisphere

00:90

00:00
Aap - MLT

12:00 Northern

-25nT < Sym-H <-5nT __cnn ™. Hemisphere
pr

150 nT < AE < 300 nT

18:00

Sym-H <-25nT

AE > 300 nT

18:00

"

00:90

00:00
Ao - MLT

Northern

Qnisphere

12:00

00:90

00:00
Aap - MLT
12:00 Northern
Hemisphere

00:90

AE <50 nT
|Sym-H| < 5 nT
23
22
- 21
219
18
1.7
50 nT < AE < 150 nT

B=y+1

23
22
21
20
19
18
1.7

-25nT < Sym-H <-5nT

18:00

150 nT < AE < 300 nT
Sym-H <-25nT

AE > 300 nT

18:00

00:00

Ao - MLT

Northern
Hemisphere

00:90

Northern

_ Hemisphere

00:90

Northern
Hemisphere

Northern
Hemisphere

00:90

AE <50 nT
|Sym-H| <5 nT

Northern
Hemisphere

= 0.10

18:00
00:90

0.05

0.00

Northern
. Hemisphere

50 nT <AE <150 nT
-25nT<Sym-H<-5 n1:

18:00
00:90

0.05

0.00

00:00
Agp - MLT

Northern
_ Hemisphere

150 nT < AE < 300 nT

12:00
Sym-H <-25nT Np

18:00

Northern
Hemisphere

18:00

00:00
Aam=MIT



